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Question 4c June 2011

Evaluate whether or not Tom and Ellie should accept the offer from Eucamp for its
use of the static caravans. [14 marks]

Response 1 [Awarded 14 marks]
This candidate does all that is necessary to achieve full marks. The response is

contextualised from the very start with frequent references to caravans, 50% discount rate,
tent pitches and the like. At least two of the contextualised benefits given are further
developed to explain the positive consequences to the business - of being able to handle
poor summers and paying off the bank loan. The candidate then moves on to make an
overall decision. The candidate recommends that the offer should be accepted and gives a
fully justified and contextually detailed judgement as to the variability of the weather, the

need for income stability and the use of tent pitches to extrapolate more profit. A top Level 4
mark, of 14, is awarded.
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Response 2 [Awarded 6 marks]
This response is immediately in context with references to the bank loan, discounted prices,
the pool, the kiosk etc. However, despite the second sentence suggesting the offer would
be useful because CFC has a bank loan, no explanation as to why the offer would be useful
is given and so, up to this point, no marks can be awarded.

Thankfully the candidate moves on from this point explaining, in context, a disadvantage of
the offer — low revenue (Level 2). This disadvantage is then developed to explain the
consequence to CFC. The candidate argues that because of the recent spending on the
pool and kiosk funds are low at CFC and that taking this offer may lead to revenue levels
falling below that which is required to pay the wages of the much needed staff (an analytical
and therefore Level 3 response). No further discussion is given, nor is an attempt to reach a

~ decision made. The highest level which this response has achieved is Level 3. A low Level
3 mark, of six, is awarded for making one analytical comment.
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Question 3d June 2011

Discuss to what extent CFC’s problems would be solved by taking on more
employees. [14 marks]

Response 1 [Awarded 3 marks]
This response begins well by giving one benefit to CFC of taking on more staff — the
avoidance (or at least the reduction) of accidents. The answer is clearly given in context
with reference to Mike being unable to use his lifeguard skills because of being at the kiosk.
The candidate, therefore, enters Level 2 in the first paragraph.

Disappointingly, the rest of the response is written with no contextual references whatsoever.

The drawbacks of recruiting staff such as needing to pay and train them, each costing time
and money apply to all businesses and no attempt was made to apply this to CFC's current
position of extremely limited resources.

The highest level this response achieves is Level 2. The response is, therefore, awarded a
low Level 2 mark, of three, for giving one benefit to CFC of employing more staff.
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Response 2 [Awarded 2 marks]

This candidate gives at least one advantage (lowers stress levels) and one disadvantage
(cost) of employing more staff. Despite passing reference to ‘financial situation’ and some
name dropping all of the comments made would apply equally to all businesses and were no
more, or less, significant for CFC. The financial situation of any business may lead to them
not being able to afford to take on staff.

To enter Level 2 the candidate would need to have made specific reference to what it is
about CFC’s current financial situation that may lead this to be true — perhaps the recent
£5000 spend on drainage, the poor previous season, the taking out of a bank loan, or the
likelihood to compensation claims being made against them.

This response is, therefore, given the maximum award at Level 1 — two marks.
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